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1. A 4800 :"G.i«' 'school was opened up in @ small town. At the fime of the school’s opening, The popuianion
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school was only 0.046 students/fi2. Over the years, the fown nas seen an Increase in resiaents, A

decide if there should be & new school built or not. The principal determined that if population density of e sef
reached a level greater than 0.1 students/ff2, then an additional school would needfclbe . a

~ were enrolled when the school first opened? If 176 new students have enrolled since the school was Tirst ORens
can be said about the need for building a new school? L GL
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X= 221 students
2. There is an island located off the coast of South America that is approximately 4500 sq. miles and contains € f‘”“
inhabitants. According fo the previous year's hospital records 11,275 children were born last year, but :’98._.50 Inhtm i L
died. The local government of the island believes that they can support G populafion that i_s as dense as 135 people er
square mile. Given last year's medical records can the government supporf the new population? -
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3. A skating rink in the shape of a circle has a diameter of 160 f1. The owner of the rink reclized there were more injuries on | |
the rink floor when the population density increased. On any given Safurday, he found that at 2 PM the population
density was at 0.0096 people/ft2 and at 6 PM, there were 265 people out in the rink. Was it more dangerous 1o be on
the rink at 2PM or af 6 PM?2 How do you know? (Use 3.14 for ). an
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Fill in the appropriate dimensions for the boxes with question marks in the chart below. Be sure to include units
as part of 'yéurﬁnal answer. Round all answers to the nearest hundredth and use 3.14 for . Formula: = % : . =
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